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Answer the Questions from any one Option.

OPTION-A
For Honours Generic/Regular
Paper : BOT-HG-3016/RC-3016
( Plant Physiology and Metabolism )

OPTION -B
For Honours Generic
Paper : BOT-HG-3026
( Environmental Biotechnology)

Full Marks : 60
Time : Three hours

The figures in the margin indicate
full marks for the questions.

Answer either in English or in Assamese.
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OPTION - A
(Plant Physiology and Metabolism )
Paper : BOT-HG-3016/RC-3016
Answer the following as directed :

[ eepr) Ges farer ¢
1. Choose the correct answer of the following :
(any seven) 1x7=7

wore fMalRRs ww Teacs! e SfFea: (Rirerar
)]

()  Which of the following forms of water is
absorbed by plants ?

(a) Run away water

(b) Hygroscopic water

(c) Capillary water

(d) All of the above

O (Y AT Sfem et 9 sAica
(@) 9R R 2

(b) W@l A} A

(c) TIRRE ofat

(d) ST AR

() What is root pressure ?

Teiblef fFe
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(iii)

(iv)

(v)

(vi)

Transpiration is a necessary :

(Fill in the blank)

ARV (2 B! AT T |
(AT 912 959 F91)

What is meant by ‘antitranspirant’ ?
‘afopIefiEs’ Wit & g e

Who proposed Active K* transport
mechanism for opening and closing of
stomata ? ‘

(a) Steward

(b) Sayre

(c) Loyd

(d) Fujino

T<E TCABA W% [ THCH (I A
*Bifeans e SRl oy wieRpREE ¢

(@) T

Name one instrument to measure the
rate of transpiration in plants.
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Sfgre araveE 74 giRa =i i S o PR—

fera | e

(vii) Dieback disease is caused due to (d) ©sa <GBl W
deficiency of
(@) zinc (ix) Vernalization was discovered by
(b) copper : (a) Garner and Allard
(c) boron (b) Lysenko
(d) iron i (c) Kurosawa
A (@0l R SRS R i AR _
(@) o= ) PreRAe wifiwE SR
(b) = i b (@) SREE SR GEG
(c) IH (b) wNRHE
(d) TZ (c) FCABRI

(viii) Mass flow theory of organic solute (d) T=E

i ed b
translocation was propos y S L
(a) Fenson

(b) Spanner : . - ARAGLSEN 52

(c) Munch : (xi) Assimitatory powérs produced during
(d) None of the above photosynthesis are

7 ) ST I 5E TSNS il I | (@) ATP and NADPH,

(a) (b (b) H>O and O,
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2. Write short notes on the following: (any
(c) RuDP and RuMP ! | four) Ix4=8

(d) C6H1206 and PGAL

SAeeEd efeare Tess (@ eI
& (2=

(@) ATP =& NADPH,
(b) Hy0 W% O,

() RuDP ®% RuMP
(d) CeHi20p W% PGAL

(a) Osmosis

(b) Guttation

(c) Chloroplast

(d) Krantz anatomy

(e) Types of transpiration

(f) Abscissic acid

. (g) Photosynthetic pigments
(xii) Respiratory quotient (RQ) is represented (h) Day neutral plants
:’3; ol woTs FraE Y (3Rl el ¢ (Rt sy
a
(b) Np/O i
() 02/CO, i
(c) T2 A 2R
@) et (d) TG F AZ
*E SANS (RQ) 2 ) o el
@) WG H < fhs s
(b) N2/ (g) TFIEARTTHES IGF T3
(c) 0/CO; (h) i B S
(d) COy/ 0,
3 (Sem-3/CBCS) BOT HG/RC/G 7 Contd.

3 (Sem-3/CBCS) BOT HG/RC/G 6



3. Write short notes on the following: (any

three) 5x3=15

(a) Components of water potential

(b) Cohesion of water and transpiration
pull theory

(c) Photorespiration

(d) Mechanism of enzyme action

(e) Auxins

(f)/ Anaerobic respiration

(g) Vernalization

(h) CAM

weTe fwaltaRa 53 (o1t &t ¢ (Rrmear fofaby)

(a) TERSE THMREZ

(b) AR FHG S AT T TN

(¢) SRR

(d) <=ezss e

(e) 3

() RS WA

(g) TAEIE=E

(h) CAM

3 (Sem-3/CBCS) BOT HG/RC/G 8

4. Answer any three of the following

questions : 10x3=30
woid el fofbr e Teq 9 ¢

(a) What are different sources of nitrogen
for higher plants ? Describe the
biological nitrogen fixation.  2+8=10

T35 Sfewa Qi Aizgreer [fen SopmE &
e (o wizsew fEfeaaer ac ada =i |

(b) What is translocation of organic solute ?
Describe the mechanism of
translocation of organic solute in plants
with the help of pressure flow model.

o T A [T e B 2RkiE AYEE TS
fers tom vy wiffazie efEas 3k 54

(c) Describe different types of factors
affecting the photosynthesis.

AEAFAETNF 2oR (oranal f[ifen e
FEFTAZ 391 741 |

(d) What is photosynthesis ? Give a
detailed account of cyclic and non-cyclic

electron transport in photosynthesis.
2+4+4=10
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(e)

9)

(h)

ACAEAET fF 2 AETFRETR GE R
The I e AR [REr Izs

Describe the chemical process of EMP
pathway. Write about net product of

EMP pathway. Be2=10
EMP 3 IHAfAS 2oifett 3¢9 341 o9 EMP
et I TR famem foval |

Give a detailed account of the Krebs
cycle. Mention its significance.

(T SOOI g fRieael il | 2 olesil Teard
aaall

What is photoperiodism ? Discuss how
the plants are classified on the basis of
photoperiodism. 2+8=10
nfesE sfefaa e Mfewem ofs myea
WRiffq e W3 sk Tfewmes v
(AT 41 TR WA 1 |

What is plant growth regulator ?

Discuss the physiological role of
Gibberellins in plants.

Tfen gfa fwas [ 2 Tigrs feiffema <19
o STes 341 |
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OPTION -B

( Environmental Biotechnology)

Paper : BOT-HG-3026

Answer the following as directed : (any
seven) 1x7=7

o Sepiia FoRie emprrss Tes a5 (Ricsaar
B

(a)

(b)

(c)

Which one of the following is not a
natural pollutant ?

i) SO,
(i) co
(i) CO,

(iv) Pesticides

fRe (T diFfes aas 923

). SO

i) CO

(iii)) COy

(iv) JoAHS

What is the full form of DDT ?
DDT 3 =9 a1 f 2

In which year the UNESCO launched
the ‘Man and Biosphere Programme’ ?
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UNESCO % (W T® W Wi (eaee (9) Lignosulfonates are released from

TP e ffee? industry. (Fill in the blank)
(d) Minamata disease caused due to RREERCE TR e fsfe £
pollution. (Fill in the blank) : (=T 12 o9 F1)
fSamior e eI A A (h) What is ozone ? |
(T 212 239 F9) o R
(e) Write two names of bacterial () Which one of the following is a unit of
biofertilizers. radioactivity ?
T i fopia ez o=yl @sfaE am (i) ppm

G . ; (ii) curie
B (iii) decibel

‘[f) Which one of the following is a _
(iv) nanometer

- xenobiotic compound ?

(i) Polychlorinated biphenyls gy ' Fese @R coufEael ga e

(i) Peroxyacgtyl nitrate (i) faflam

?uj 3?;or?ﬂ;1(:rocmbon _ (i) ﬁ

(1) aviolet ray

fitsre @m! emaRbe Amid == o

N : (iv) R

u ' ~ () Where is Chilika lake situated ?
ake situated

e <55z 1D ‘

(u) i - R %S ot g7 wrfyer

(iii) T I (k) Write the full form of WTO.

(iv) Sfores 3 WTO 3 7=sjef 711 forai |
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()  Which one of the following is a Ramsar
site ?

(i) Kaziranga National Park
(i) Majulee River Island
(iii) Deepor Beel
(iv) Brahmaputra River
e @0 2 T3 ZH i @it
(i) Sife=e AGE T
(ii) el Faraio
(iii) T e
(iv) T=P@ Al
2. Write short answers : (any four) 2x4=8

s it Tea ¢ (R b))

(a) Advantages and disadvantages of
aerobic ponds.

S YT THFIS! SR SFITS! FH2A |

(b) What. is radionuclides ? Give one
example.

@feaieige 52 2aR 9ol Tarzad fera |

(c) What do you mean by bioconcentration ?

teraIad S & g% 2
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(d) Write a note on biomining.

o A @ GrRR e

(e) Write a very short note on Brundtland
Report.

Forered Af S TR wfe st @t G
ferat

(f) Principles of Forest Conservation Act,
1972.
ey A e (554%) q o o |

(g) Silent Valley Movement.
T Tl ST |

(h) Xylanases
GIIZEA TS

3. Write notes on any three of the following :

5x3=15
ficare sl oo o e (i ol 2
(a) Global environmental problems

) SifS TR FAPTATZ

(b)) Upflow anaerobic sludge blanket
reactors

TN w_re (W o RIS
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(c) Role of nitrogenous compounds in air
pollution

ARGEE #wid A emEers i

(d) Trickling filter
Tl fe=bim

(e) Corporate social responsibility

(f) Salient features of Kyoto Protocol, 1997
FIACE! 25T (S559) T A4 ARBPIZ

(g) Constitution of Central and State
Pollution Control Boards

U @ 3ferE anEe Fagd cftawa oo
elfeT!

(h) Treatment scheme of waste water of
tannery industry

Cof Trmpiei afere sAimia A e

4. Answer any three of the following :

Rzt fofanr 2 Tes fidl ¢

(@) What is greenhouse effect ? Describe
the possible environmental effects of
global warming. Write briefly how
greenhouse effect can be minimized.

2+5+3=10
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(b)

(c)

(d)

o 9z AAfdsal 52 el Trewem A
Affrere & & geor e | &) @ e

ivE g H{RE A TR ARSI ST

¢ 4t |

What are pollutants ? Describe the fate
of different pollutants in the

environment. 2+8=10
e &2 sifacae ffen avanes Fafe &
¢t =4t |

Describe the Montreal Protocol (1987).
How does it differ from recommendations
of Rio-Earth Sumit-UNCED (1992).

7+3=10
AfGet 25’ (Soba) A9 41 | e =il plare-
UNCED (3553) 3 #@eia (e 209
@RS 219w @it |

What do you mean by sustainable
development ? Describe the impact of
sustainable development on gross
national productivity and quality of life.

: 2+8=10

Tz i SN 6 e ¢ qzs Rl A2
GRSV OF GIeAd WEAMed SHFe
@R Leifde IR HAE Iz &
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(h) Write an essay on National
Environmental Policy, 2006.

AT ~AfRE TS, 2000 F7CH @i a1 &

(e) What are xenobiotic compounds ? How

does xenobiotic compound affect the

living organisms ? Give suggestive
measures to mitigate this problem
through bioremediation. 2+3+5=10

(TS 2 T 52 (EmaEhs oW @
TR AT (FELI DI FE9 AT ?
IRARCACCAGR [IAl 92 AT (FEMCE 78 FR
AT 3 =01

(f) Write a descriptive note on Water
Pollution (Prevention and Control) Act,
1981.

T AgEel (efSraty o ) o, seby
STHcE 9ol [ge (G fera |

G} “Descrie ™ Driefly "“the~"vole and
participation of women in

environmental issues in India.

OIAed AR HERR FREOTPRES A9 S

% ST FICF HACE 31 4 |
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